1| 2006i 9| EHE 52 [Loravyy—rE 300 HAEREYDE 40 1200
2 | 2000i 4] mFE 84 [smasoy—rE 250 HARYMEL 30 1100
3| 2013} o] HFE 43 |smas su—reE(sus) 250 HREYRH 50 1000
4 | 2017i12| EER 31 [ sy—rE(sus) 250 MURYUREMEL 10~25[ 1000
oLas |2 2011? 6| B 127 [smarou—resin) 250 200 [#AEEYR 50 900
6 | 2009; 3| HER 17 |&marou—re E2) 250 HAEREYIR 50 800 —BAEHEREE200MN/ mi
7 | 2006 12| dtimE 56 |##as oy —HE (ER) 350 AR 50 800 —BAEHEREE 100MN/ mi
8 | 2006} 12| dbiEE 39 [smaroy—reE ER) 350 AR 50 800 AL
9 | 2002{11| HEER 58 |sarasoy—bes (ER) 250 RoHg 30 800 — BhIE B34 100MN/mi
10 [ 2015i 11| BEARIE 38 |8y —HE (SJS) 250 SRIRAME 50 800 R=175m
1| 2004; 4| RHE 90 |Bmiarsy—rEEW) 400 HAEREYDEL 50 2000 — B E 8548 £ 100MN/ mi
2 | 2013} 3| gEARE 52 |smasy—rE(sus) 400 ARV 50 1500 —BhIEMESE A 120MN/mi
3 | 2013; 2| BERE 26 |Bmaroy—rE 400 HAREYIE 50 1500 — B EHE5R E 120MN/ mi
4 | 2013t 3| gEAE 10-28 @& vy —rE 400 HAEREYDRE 50 1500
BLEO 5 | 2007 7| EEXRE 169 |@marsy—reE 400 HAEREYDRM 50 1500
6 | 2007i 8| HEAR 97 |#marsU—rE 400 HARYg 50 1500
7 | 2007: 9| REARE " |smarsy—reE 400 HAERYDE 50 1500
8 | 2003i 4| HKRE 63 |#maryU—rE ER) 400 b 50 1500 — B EHETE A 120MN/mi
9 | 2002i 6 wEE 42 |#mHav D) —RE(NS) 400 HAEREYDE 50 1500 — B EHESREE 124MN/m
10| 2015¢ 7| EHE 116 |#&mas2U—rgE (SIA) 500 100 |S5ARYREE 50 1200
1| 2012i of RHE 103 [skmras oU—H& (SJS) 600 ARV 50 1600
2 | 2007i11| WL 95 |8kmar sy —HE (ERY) 700 ARV 50 1500
3 | 2012} 3| EHE 198 |@marsy—re&(sds) 600 HAEREYDR 50 1200 80 |—EhEMEARE116MN/mi
4| 2012 1| REE 188 |smiarsy—re& (sds) 600 HARYRRE 50 1200 71 | —EhEHESRE 180MN/ mi
BL7O 5 2014? 8| EHE 184 |smiarsy—ra& (sds) 600 HAEREYRE 50 1200 90 |—EhEMEIRE220MN/ i
6 | 2012 2| REFE 167 |[#marsU—r&(sds) 600 HAERYMRg 50 1200 80 |—EHEMBIRET116MN/mi
7| 2013i12| EHE 160 |#mas2U—hE (SIA) 600 ARV 50 1200 90 |—EhE#EIRE250MN/ i
8 | 2014i 7| EBE 160 |#m5as2U—hE (SIA) 600 250 [HAAEYIDHE 50 1200 90 |—EHIE#EIREI50MN/ i
9 | 2018i10| EFHE 141 [smaro)—r&E(sJs) 700 ARV 50 1200 90 [fE[JIEL
10| 2012i12| RER2 128 |#marsy—rE(sds) 600 HERYDE 50 1200 90




